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Directions for the following 6 ( six ) items: ,
Read the following two passages and answer the items that follow each passage. Your answers to
these items should be based on the passages only.

Passage-1

‘Accountability, or the lack of it. in governance generally, and civil services, in particular, is a major
factor underlying the deficiencies in govemnance and public administration. Designing an effective
framework for accountability has been a key clement of the reform agenda. A fundamental issue 1s
whether civil services should be accountable to the political executive of the day or to socicty at large.
In other words, how should internal and external accountability be reconciled ? Internal accountability
is sought to be achieved by intemal performance monitoring, official supervision by bodies like the
Central Vigilance Commission and Comptroller and Auditor General, and judicial review of executive
decisions. Articles 311 and 312 of the Indian Constitution provide job security and safeguards to the
civil services, especially the All India Services. The framers of the Constitution had envisaged that
provision of these safeguards would result in a civil service that is not totally subservient to the political
executive but will have the strength to function in larger public interest. The need 1w balunce inteial
and external accountability is thus built into the Constitution. The issue is where to draw the line. Over
the years, the emphasis scems to have tilted in favour of greater internal accountability of the civil
services to the political leaders of the day who in tumn are expected to be externally accountable to the
society at large through the clection process. This system for seeking accountability to socicty has not
worked out, and has led to several adverse consequences for governance.

Some special measures can be considerad for improving accountability in civil services. Provisions
of articles 311 and 312 should be reviewed and laws and regulations framed 1o ensure extemal accountability
of civil services. The proposed Civil Services Bill seeks to address somecof lpc;sc;_\‘r'e“guircmcﬁls. The
respective roles of professional civil services and the political execfitive shauld, be defined so that
professional managerial functions and management of civil services-are'depoliticized. For this purpose,
effective statutory civil service boards should be created at the'centresandiin the states. Decentralization
and devolution of authority to bring ga\'cmmml,gnd;géciﬁon\hmakiﬁg closer to the people also helps
to enhance accountability. i\ s\,

; al . ( \ “ \.—4
1. According to the pq.ssggq.(:;hlch of the 5
following factor/factors led (6'the-adverse | :
consqgueﬁggs{ fer-governance/public assumptions have been made :
3‘1“"“".{{“3‘10“ ? 1. Political executive is an obstacle to

1. Inability of cml_serviccs to strike a the accountability of the civil services

balance between internal and external

accountabilities to the socicly

With reference to the passage, the following

2. Lack of sufficient professional training 2. In the present framework of Indian
to the officers of All_lndla Services polity, the political executive is no
3. Lack of proper service benefits in .
* civil sarionk longer accountable to the society
4. Lack of Constitutional provisions to Which of these assumptions is/are
define the respective roles of valid ?
professional civil services vis-a-vis
political executive in this context (@) 1 only
Select the correct answer using the code (b) 2 only
given below :
@) 1 oaly (c) Both 1 and 2

(b) 2 and 3 only (d) Neither 1 nor 2
(¢) 1 and 4 only

(d) 2,3 and 4

'l
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3.

of justice.

5.

Which one of the following is the essential
message implicd by this passage ?

(a)
(b)
(c)

@

Civil services are not accountable to
the society they are serving
Educated and enlightened persons are
not taking up political leadership
The framers of the Constitution did
not envisage the problems being
encountered by the civil services
There is a need and scope for reforms
to improve the accountability of civil
services

Passage-2

4.

According to the passage, which onc of
the following is not a means of enhancing
internal accountability of civil services 7

(a)
(b)

(c)
(d

Better job security and safeguards
Supervision by Central Vigilance
Commission

Judicial review of executive decisions
Sceking accountability through
enhanced participation by people in
decision making process

In general, religious traditions stress our duty to god, or to some universal ethical principle.
Our duties to one another derive from these. The religious concept of rights is primarily derived
from our relationship to this divinity or principle and the implication it has on our other rclauonsh{ps
This correspondence between rights and duties is critical to any further understandmg of }ds‘uge
But, for justice to be practiced; virtue, rights and duties cannot rcmam formal ahstracuons hey
must be grounded in a community (common unity) bound logether by\ :évL:nse of\ common union
(communion). Even as a personal virtue, this solidarity is cssent:aj)to the practice and understanding

A=

assumptions ha\e. becn mad

ﬁ ﬂ/ﬂ wA
Human rclauunahlps are derived from

the:r rellgmus traditions

Human beings can be duty bound only
if they believe in god

Religious traditions are essential to
practice and understand justice

Which of these assumption(s) is/are
valid ? ‘

(a)
(b)
(c)
d

1 only

2 and 3 only
1 and 3 only
1,2 and 3

el

i
With reference to the ﬁassage;‘ﬂle)fj'll}n\wmg 6.

o

Which one of the following is the crux of
this passage ?

(@)

(b)

(©)

(@)

Our duties to one nnolhez: derive from
our religious traditions

Having relationship to the divine
principle is a great virtue

Balance between rights and duties is
crucial to the delivery of justice in a
society

Religious concept of rights is
primarily derived from our
relationship to god

(Contd.)

RaadheytheVisiion | | Contact us: - +91962575753; +918889907405

mailto:mentorship@raadheythevisiion.in

raadheythevisiion.in

Mukherjee Nagar, North West, Delhi-110009



mailto:mentorship@raadheythevisiion.in
raadheythevisiion.in

3. PrafaRm ¥ flawm s, @ Rl ¥
e afrnd wRw & 7
(a) Fafdm ¥ad 39 v & ufy saes
) ¥ Rea® 3o 3 w7 o #

(b) Mt g wgz =R wrEifes Age
A W E -

(c) wRum Pefasl 3 Rfw Jael 3

qHE 1 Al wendl W e b

famar
(d) RRe Janh i saEdd ¥ wadT 3g
- gERl W smwem AT feww 2

4, =BT ¥ I, PralRifm & *=ar
o, fifae daeh @ aiaRs ga@Rd &
wadT @ waw T 8 7
(a) ¥peX w-gen AR eiuw
(b) =T wadar s gra Prieer
(c)aﬁrmﬁrﬁfvfzﬁmmﬁm-gaﬁehw
(@ Profer gfen ¥ @l @ 8 gt

gewiar g0 SaEedl |

- R=R-2.
¥Arg w9 ¥, afif o] fva) & w Rl el AR Rrale # ol e ader o
m%ﬁﬁlwqﬁ%gﬁfmﬁ&aﬁﬂwﬁa?:mﬁmﬂﬁuﬁ$ww

@ e gl 3 aRErl ik axfall B die aw wmee s @ R geER A

. @ J|/ea o Rrgra d @9 TR G99 W, sﬂtmwmtﬂmw%mm%m
o 3

?-'lﬁ-?g,wmm’lamrmﬂ‘m%%mu@ aﬁnﬁnsﬁ;ﬁ(
THA | I T B (@gRmE) & g A die

d TH W@
€ @m\(amarmr) ¥ IO qoEvaE

.almw%wi‘rﬁrwm ﬂﬂmmm%mmm

m"{gfr’\\(\%:\z

(e

2. wgw*deu%diﬁaﬁﬁm%w
¥ fex A Rvam wX

. 3. T W wmee X g R R aiffe
IO HEAITE &

T & ATt rcon, o 3w 8/ 2

(@) ¥ |

(b) da@2alt3

(c)_ﬁﬁl@”(?,

@ 1,233

_6. frefafee N ftvor &, w it w7

g ?

(@) -zt & uly R weley wd
aitE Toael A e 8N 8
-(b)ﬁwfﬁziaﬂﬁumvm'w
(‘-‘)aﬁlﬁrﬁaﬂ?‘-ﬁftﬁa‘maﬁ'am
e W mam Rem @ e Rofes

' E ~
(d) T #) aifiE wHern g e
%mmﬁ!‘u%ag?q-—-rg{&

(Comd.)

RaadheytheVisiion | | Contact us: - +91962575753; +918889907405

mailto:mentorship@raadheythevisiion.in

raadheythevisiion.in

Mukherjee Nagar, North West, Delhi-110009



mailto:mentorship@raadheythevisiion.in
raadheythevisiion.in

A ate grapes and pineapple; B ate grapes
and oranges; C ate oranges, pincapple and
apple; D ate grapes, apple and pineapple.
After taking fruits, B and C fell sick.
In the light of the above facts, it can be
said that the cause of sickness was :
(a) Apple

(b) Pineapple

(c) Grapes

(d) Oranges

Consider the following statements :

l. The rate of population growth is
increasing in the country

2. The death rate is declining faster in
the country compared to birth rate

3. The birth rate is declining faster in
the country compared to death rate

4. Rural-urban migration is taking place
regularly in the country

Which one of the following conclusions

may be true in the light of the above
facts ?

(a) The rate of population growth is
increasing due to rural- urban
migration

The rate of populanon\glzo lh
increasing due to declme\jn death

rate only., (‘\ A\ \\\ N~

'I;hc“ mlcf’of\pOphlauon grow!h is
incrcasmg duc to increase in birth
rate only

Thc rate of population growth ls
increasing due to faster decline in
death rate than in birth rate

(b)
(c)

(@)

A person X was driving in a place where
all roads ran either north-south or cast-
west, forming a grid. Roads are at a
distance of 1 km from each other in a
parallel. He started at the intersection of
two roads, drove 3 km north, 3.km west
and 4 km south. Which further route could
bring him back to his starting point, if
the same route is not repeated ?

(a) 3 km ecast, then 2 km south

(b) 3 km east, then 1 km north

(¢) 1 km north, then 2 km west

(d) 3 km south, then 1 km north

\\\<

m\u“’%

[ =,

10.

11.

12,

Consider the following statement :

“We shall go either for a picnic or for
trekking”.

Which of the following, if true, would
falsify this claim ?

(a) We go for a picnic but not for trekking
(b) Activities such as picnic and trekking
are cncouraged by the health
authorities

We go for trekking and not for picnic

We do not go cither for plcmc or for
trekking

(c)
(d)

There were 50 faculty members comprising

30 males and the rest females. No male

faculty member knew music, but many of

the female faculty members did. The Head

of the institution invited six faculty members

to a tea party by draw of lots. At the party it

was discovered that no member kncw

music. The cunchxslon is that \\

(a) the part) compnscd male faculty
#'ncmbcrs onlyk o

the party compnsed only those female

faculty members who could not give

renderings in music

the party comprised both male and

female faculty members

nothing can be said about the gender

composition of the party

Five people A, B, C, D and E are seated
about a round table. Every chair is spaced
equidistant from adjacent chairs.

(i) C is seated next to A
(ii) - A is scated two seats from D
(iii) B is not seated next to A

On the basis of above information, which
of the following must be true ?

1. D is seated next to B

(d)

2. E is seated next to A

3. D and C are separated by two seats
Select the correct answer using the code

given below :

(a) 1 only
(b) 1 and 2 only
() 3 only
(d) Neither 1 nor 2 nor 3
(Contd.)
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13.

There are five hobby clubs in a college —
photography, yachting, chess, electronics
and gardening. The gardening group meets
every second day, the electronics group
meets every third day, the chess group
meets every fourth day, the yachting group
meets every fifth day and the photography
group meets every sixth day. How many
times do all the five groups meet on the
same day within 180 days ?

(a) 5

() 18

(c) 10

@ 3

14. There are some nectar-filled flowers on a

tree and some bees are hovering on it. If
one bee lands on each.flower, one bee
will be left out. If two bees land on cach
flower, one flower will be left out. The
number of flowers and bees respectively
are :

(a) 2 and 4

(b) 3 and 2

(¢) 3 and 4

(d) 4and3

Directions for the following 5 (five) items : Consider the following information and answer, the
five items that follow :

There are five persons in a group— P, Q, R, S and T. The groupahas fmae doctor 0

lawyer

and one artist. P and S are unmarried students. T is a man marru:d to one of the group members.
Q is the brother of P and is neither doctor nor nmsl R 1s unol doctor.

15,

16.

A

18.

Who is the doctor ? k\
(b) P k’
(c) c;

Who s the artist ?

(a) P

(¢) R

d T

(a) P

®) T

(d) S

Who is the lawycr ?

() Q

(¢) R

@@ T
ey

(d) ‘{t @

(b) Q

Who lsthespouse of R 7-

(©) Q

(@) P

@ S

#\ Who of the following is definitely a

man ?
-(a) P
(b) S
() Q
(d) None of the above

. There is an order of 19000 quantity of a

particular product from a customer. The
firm produces 1000 quantity of that product
per day out of which 5% are unfit for
sale. In how many days will the order be
completed ? '

(a 18
(b) 19
(c) 20 .
(d) 22

(Contd.)
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Directions for the following 5 (five ) items : Read the following two passages and answer the items
that follow cach passage. Your answers to these items should be based on the passages only.
Passage-1

Biomass as fuel for power, heat, and transport has the highest mitigation potential of all
renewable sources. It comes from agriculture and forest residues as well as from energy crops.
The biggest challenge in using biomass residues is a long-term reliable supply delivered to the
power plant at reasonable costs; the key problems are logistical constraints and the costs of fuel
collection. Energy crops, if not managed properly, compete with food production and may have
undesirable impacts on food prices. Biomass production is also sensitive to the physical impacts
of a changing climate.

Projections of the future role of biomass are probably overestimated, given the limits to the
sustainable biomass supply, unless breakthrough technologies substantially increase productivity.
Climate-energy models project that biomass use could increase nearly four-fold to around
150 - 200 cxajoules, almost a quarter of world primary energy in 2050. However the maximum
sustainable technical potential of biomass resources (both residues and energy crops) without
disruption of food and forest resources ranges from 80 — 170 exajoules a year by 2050, and only
part of this is realistically and economically feasible. In addition, some climate models rely on
biomass-based carbon capture and storage, an unproven technology, to achieve negative emissions
and to buy some time during the first half of the century. Q

Some liquid biofuels such as comn-based ethanol, mainly for trnnspon{m\&y aggugvate rather
than ameliorate carbon emissions on a life-cycle basis. Sccond g:.nurmuon)bioﬁ’:cls, based on
ligno-cellulosic feedstocks - such as straw, bagasse, grnss fand \\Qoodﬁ hold the promise of

sustainable production that is high-yielding and cmﬁ\?w Icvclsj of greenhouse gases, but these
are still in the R & D stage. A \Kg

3 1\ m\“ & 1 i
21. What is/are the present con nt:'wjmamls 22. Which of the following can lead to food

in usin 4baomas£¢ \;s\kfuel for power * security problem ?
nen{ogn x'{) 1. Using agricultural and forest residues
Lack of sustainable supply of biomass as feedstock for power generation
2. Biomass production competes with 2. Using biomass for carbon capture and
 food production storage
3. Bio-cnergy may not always be low 3. Promoting the cultivation of energy
carbon on a life-cycle basis crops
Select the correct answer using the code Sclect the correct answer using the code
given below : _ given below :
(a) 1 and 2 only . (a) 1 and 2 only
(b) 3 only (b) 3 only
(c) 2 and 3 only (¢) 2 and 3 only
(@ 1,2and 3 (4) 1.2 and 3
I.O (Contd.)
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X e 5 (aiw) wen ¥ fg BRw . PralRe @ oRSDE B oY aw vdw aiedw R
TR A A TEH $ IR AN TG B IR IT IR0 9 s @ 8wl
qfede-1

Tiw, FO0 AT IREET & g F w9 A Fawrnm (ardww) N ogAwr wwdar @
Afwriy Al & 3ftw B or Ff it 9 safinet, W @ sai-wEdr ¥ wa At 8 ) damen
ARl w1 wm A ¥ owEd ad gEAN wfk-wuEl A Sfm e we @ wldaed 9ad
Ryae-ftr feafaf off & 2, 1o wra] graehs (@RRerd) s@de i $ar-guen @ v
g1 R soi-vaeh & IR A wWuT A A @, A = AT D ww whaew wd @
;T 3 N G W ITE Ao T B WA 81 dwwmn ® Ieury wRadwh awany
® Mfw gl 3 9y o wIEie @ 2

W TF Ta-NAbG Feaedw B TOF T H T TG 79 w6 gy Jamen qfif A Dl
B @ FC damen N w® B F dvaa: aroRea A e aEE a2 aeg-g
waET T wEew #Rd & B 2050 ¥ g w1 Iwdm @nm ArOET @@ ST 150 — 200 R
B aFa g W R R & w3 @ Ch-Hur R Wy W O 3 wEEl oA
feme fag famn, 2050 o ived ardmm gal @ siemr ol @ s (sl e st
e qFi) 80 - 170 TRINE & wRaT ¥ 8t IR o RS uw sim aele I aiffs sy @
W B WE AR, o Ty wey Ao g g w0 i) vl 3 @il ¥ wo

\ <

FW%WWMW%@W%ﬁﬁq&anqnﬁmsﬁﬁﬁgﬁ\aauﬁs:a
| o ¢ \\. o

@mmﬁmmw,mmﬁ@aﬁ%@f\\wmwm
I ¥ gER AR @ o IR IR TR aﬁ@:%—%@mmmm%
3 %o dwbr A fr g, o SN W Ve '
T T g, *.ﬂwf%@m\@ JOIRT A WAl Td & W 9wd
m@ﬁmmﬁ@\mmmﬁ,ﬁﬁ%mhmmmmﬁr&w
21. WA, § R Ao @ d d w22, PraiiRa ¥ R/ A o e

|

gd@@%ﬁhﬁmmmm W FmEn & wwEh R 7
, - 1. w977 ¥ R @ @+ el
. S @ g gfd ® awm F oww-gEh (Feeeiw) ¥ T A
z.mmam-mma‘»nm IR T

ufeendf &1 smar 2

< 2. Smmmn e
3. da-F=, Fer-ww waR W, wdw -ﬁqm%m@m$

Prer-srds 78 &1 wwd . ;
A Ru o wmz e wan aw ) gee 3. Sl ¥ 9N % ww

P A R W g B W@ I P
(a) Fas | A 2 . (@) ¥aw | AT 2
(b) ¥ 3 ' (by @ 3
(c) ¥ 23X 3 . (c) #ad 23X 3
(d 1,233 (@ 1,233
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23.

In the context of using biomass, which of
the following is/are the characteristic/
characteristics of the sustainable production
of biofuel ?

1. Biomass as a fuel for power
generation could meet all the primary
energy requirements of the world by
2050

2. Biomass as a fuel for power
generation does not necessarily disrupt
food and forest resources

3. Biomass as a fuel for power
generation could help in achieving
negative emissions, given certain
nascent technologics

Select the correct answer using lhe code

given below :

(@) 1 and 2 only
(®) 3 only

(c) 2 and 3 only
(d 1,2and 3

Passage-z

24. With reference to the passage, following

assumptions have been made :

1. Some climate-energy models suggest
that the use of biomass as a fuel for
power generation helps in mitigating
greenhouse gas emissions

2. It is not possible to usc biomass as
a fuel for power generation without
disrupting food and forest resources

Which of these assumptions is/are

valid ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2 -
\K\

of\

\ \

We are witnessing a dangerous q\wmdimg”of hmdwcrslty in our food supply. The green
revolution is a mixed blcssmg Over mmc farmcrs have come to rely heavily on broadly adapted,

P \l

high yield crops to the excluslon of vaneues adapted to the local conditions. Monocropping vast
fields. vmh the. same gencncally umfonn seeds helps boost yield and meet immediate hunger
needs. Ye! hlgh-y:cld varieties are also genetically weaker crops that require expensive chemical
fertilizers and toxic pesticides. In our focus on increasing the amount of food we produce today,
we have accidentally put ourselves at risk for food shortages in future.

25.  Which among the following is the most logical and critical inference that can be made from the

above passage ?

(a) In our agricultural practices, we have become heavily dependent on expensive chemical
fertilizers and toxic pesticides only due to green revolution

(b) Monocropping vast fields with high-yicld varieties is possible due to green revolution
(c) Monocropping with high-yic.ld varieties is the only way to ensure food security to
millions

(d) Green revolution can pose a threat to biodiversity in food supply and food security in
the long run

12 ' (Contd.)
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23. Gaurm B v & weed ¥, Profafeea

¥ Fadi/ANa-Na@, Ja-dum @ ared

Iamed @ Rdwan/Raeemd /8 7

1. 2050 &%, wfka-9=4 & §u9 @ w9
¥ dgurm & Ry At off gt
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2. WRE-97 & q07 w9 A JawrA
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24. @ 90T & wod A, PR qharomd

BF'IT{TI'{E

1. w6 wag-Fw wREy g gaa ¥
& wftg-a1 3 o & =9 ¥ aanw
® I fAew o Iweal @
9 H A s g 8

2. wfE-wma & fu7 & w9 ¥ aumm
F JTET FA, T @ 97 Gy
w1 wfte fde R d@we 98 2

T gduromsit § Fd g 38 7

g & R 38 &an 8

3. %o JuwE SR #@ o & @
wia-o=7 * fuv & w9 ¥ Janpn,
HUMeHE JeddA U &T4 N TRUH

ﬁ:qm% P . (a) B¥9d 1

T FE W Y [T 2

(@) #aa | &R 2 (o e g

b) @3 (c) 130T 23

(c) P2 24K 3 | @ 7@ 1T82 ’

(@ 1,233 \@

< e\ 00

| 'maﬂm-q\fﬁﬂmﬁm\@\w @ ¥ e #ift o fren-gqe awm
3|ma‘#mu-wamrﬁa&iﬁk %demmﬁmwa@
mm#a\%\aﬁtﬂumﬁﬂawmﬁmmﬁﬁmﬂlﬁm
Mﬁu@umj\mrﬁ(ﬁwqﬁqﬁ)%ﬁqmmﬁawgmm
mﬁﬁh@}u drefes el B oqm F F mew Pad ¥ qul), IS gvw ard R
maﬁmwmﬁm%m%mmmmmﬁmﬁzmwﬂﬁm
ardt ? |mmﬁm-wﬁfaﬁmmﬁﬁwﬁmmm$ﬁammmﬁﬂ

mﬁw&m-m?ﬁ%ﬁﬁmﬁmﬁﬁl

25. Ivdw =Rt ® Preifafa ¥ & i, mmmmmaﬁwm
a1 wFa g7

(a)MThwﬁﬁﬁwmmm%wﬂ@mﬁmﬁmmﬁm
FrEATIR 9T eafw Py & oM #

(b) ﬁsm@ﬁﬁmw«aﬁ%@ﬂw-mmmm%wxfmﬁ

(©) I8 I ol el N or-seeh @ FAST Al B R ww guen g wa
w1 wEEE alde @

(d) sRw wifa, ﬁmﬁm—ﬁﬁmmﬁﬁ-hﬁm%hmw@am
o 2
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26. A class starts at 11:00 am and lasts till

27

28.

2:27 pm. Four periods of equal duration
are held during this interval. After every
period, a rest of 5 minutes is given to the
students. The exact duration of each period
is :

(a) 48 minutes

(b) 50 minutes

(c) 51 minutes

(d) 53 minutes

Four friends A, B, C and D need to cross
a bridge. A maximum of two persons can
cross il at a time. It is night and they just
have one lamp. Persons that cross the
bridge must carry the lamp to find the
way. A pair must walk together at the speed
of slower person. After crossing the bridge,
the person having faster speed in the pair
will return with the lamp cach time to
accompany another person in the group.
Finally, the lamp has to be returned at the
original place and the person who returns
the lamp has to cross the bridge agam
without lamp. To cross the bndgc. ;l!\n:
time taken by them is as followa A B i mmuie.,
B: 2 minutes, C: 7 rmmm-.-smd DA\ \10 mifiutes.
What is the mtal rmmmum time required
by lI' the’ fncnds {0 cross the bridge ?

(a) 23 ml\ utes

(b) 22 minutes
(c) 21 minutes
(d) 20 minutes

30 g of sugar was mixed in 180 ml water
in a vessel A, 40 g of sugar was mixed in
280 ml of water in vessel B and 20 g of
sugar was mixed in 100 ml of water in
vessel C. The solution in vessel B is :

(a) swecter than that in C
(b) sweeter than that in A
(c) as sweet as that in C
(d) less sweet than that in C

14

L]

29.

30.

In aid of charity, every student in a class
contributes as many rupees as the number
of students in that class. With the additional
contribution of Rs. 2 by one student only,
the total collection is Rs. 443. Then how
many students are there in the class ?
(a) 12

(b) 21

(c) 43

(d) 45

Anita's mathematics test had 70 problems
carrying equal marks i.e., 10 arithmetic,
30 algebra and 30 geometry. Although she
answered 70% of the arithmetic, 40% of
the algebra and 60% of the g&ometry
prob!ems cq;‘rectl){\she did not pass the
Jtest bccausc shc got Iess\lhnn 60% marks.

w FTL numlxr of more questions she would

31

ve 1o answer correctly to earn a 60%
passing marks is :
(@ 1
M) S
() 7
@ 9
In a class, there are 18 very tall boys. If
these constitute three-fourths of the boys
and the total number of boys is two-thirds
of the total number of students in the class,
what is the number of girls in the class ?
(@) 6
(b) 12
(c) 18
@ 21
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RaadheytheVisiion | | Contact us: - +91962575753; +918889907405

mailto:mentorship@raadheythevisiion.in

raadheythevisiion.in

Mukherjee Nagar, North West, Delhi-110009



mailto:mentorship@raadheythevisiion.in
raadheythevisiion.in

26.

28.

W wenm yafgw 11:00 7= uw g @
AT FTET 2:27 @ W dY B0 TW
Faua § AT awE waly @ fiftes o
21 gew fiRug & we wraAl @1 S frere
 faum fam s 21 wew dftgs W
Sw-OF afy R & 7

(a) 48 fme

(b) 50 Pz

(c) 51 frme

(d) 53 e

. WX Bl A B, CR D# uh gw @ U

FCN 1 G W T g N o ¥ e
A Wi UK T T §) T W Ay B o
TTh UW T T AT B OGH U R
ad ® W T F R oawes A arl
RIS e e £ e
Wﬁ%ﬁmﬂmlﬁrn|gqm
FCE D AR, A AHEG H QA wm IS e
o R, KU A 3 W) A G uR
FE F, AT vl avm A osom ) s
A TR WA Y W W @A §

aﬁﬁmmaﬁﬂ%fﬁmﬁéa%qﬁz\“ \5'&3{ .

T U TR G R R @

mfﬁmwwmm ‘A

gﬁzﬁm C 7\ \*’ 1ofﬁﬁz|
R, e fer
o \ﬂjﬁ\ M

f?mz

(b) 22ﬁmz

(c) 21 Pz

(d) 20 f=e

A AR 30 wH ww w180 Predl v
i P o, e BN 40 am v @)
280 Bl @& ¥ Premn mm o g C
# 20 M wFa N 100 B ww A
Pem@ g B w Rers dm 2 7

(@) C# R ¥ sfaw ofte

M) A% REgr R oAz

() C& Rega & wwm fay
d) C& Rww § ww e
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29. wifd =z & fAed wenr ¥ e Radt

30.

31,

a9 T @ 2 Ry 3a wen A foffar
N e R dEd w Rodl & 2 TR
o 37 9 T[A T 443 @A g ¥
@ wen ¥ et Randf & ?

(a) 12

(b) 21

(c) 43

(d) 45

e #r aftm when § 70 wva wma
dw & A R 10 senfie B, 30 Hanfem
B M 30 vfafe & o) gal 3R sigwim
 70%, fromfg & 40% Mt o @
60%av=:‘t-ﬁra*mfam r&mﬁ
Hq—crﬂ‘ﬁ"‘é m%w\ﬁm
ihsz:r—‘: d“ﬂ?& i & 5 zar Ru
60% &1 urd ursrs fia

(a) 1
(b) 5
() 7
@ 9

o wel ¥ 18 wd wgg @A ¥y aR 3
agh, qgH N FE dEn P -
ﬁ?ﬂsﬁ@mmm%mﬁaﬁ@
Han # Q-faerd B, @ wen N asd
qegr T @ 7

(@) 6

(b) 12

(c) 18

(d) 21
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32. Consider the following statements : 33. The monthly average salary paid to all

1. Either A and B are of the same age the employees of a company was Rs. 5000.
or A is older than B The monthly average salary paid to male
2. Either C and D are of the same 38‘3 and female employees was Rs. 5200 and
or D is older than C Rs. 4200 respectively. Then the percentage

3. B is older than C

of males employed in the company is :
Which of the following conclusions can i

be drawn from the above statements ? (@) 75%
(a) A is older than B (b) 80%
(b) B and D are of the same age (c) 85%
(c) D is older than C | d) 90%

.(d) A is older than C

Direction for the following 3 (three) items : Consider the given information and answer the
three items that follow. :

Six boxes A, B, C, D, E and F have been painted with six different colours viz., violet,
indigo, blue, green, yellow and orange and arranged from left to right (not necessarily either kept
or painted with the colours in the same order). Each box contains a ball of any one of\lhu.
following six games: cricket, hockey, tennis, golf, football and volleyball (not neccssanly m the
same order). The golf ball is in violet box and is not in the -box D. oihe bo)r’A wl'(;)lch contams
tennis ball is orange in colour and is at the extreme nght I‘ht. sz.kcy ball);s nélther in box D
nor in box E. The box C having cricket ball is pamtcd grcan'I hc hockcy ball is neither in the
box painted blue nor in the box painted yello“l The\ t\C ts’ﬁﬂh from right and next to box
B. The box B contains volleyball. The@ox containing the hockey ball is between the boxes

containing golf ball anc\\éleyball\ﬁ

34, thh omﬁf lh'cf Howmg boxes contains 36, The football is in the box of which

the go&f ball2~ R
(@) F @) Yellow
o) E ®) Indigo
(c) D 5

(c) Cannot be determined as data are
(d) None of _the_above - . :

inadequate -
35. Which of the following statements is/are (d) Blue

correct ? .

(a) D is painted yellow

(b) F is painted indigo

(c) B is painted blue

(d) All of the above

16 : - (Contd.)
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37. Two numbers X and Y are respectively 39. A piece of tin is in the form of a rectangle

20% and 28% less than a third number having length 12 cm and width 8 cm. This

Z. By what percentage is the number Y is used to DORUINS & closed cube. The

less than the number X ? side of the cube is :

(a) . 12% + (a) 2cm

(b) 10% ' (b) 3 cm

(c) 9% () 4cm

(d) 8% (d) 6 cm ;
38. A daily train is to be introduced between - 40. In a question paper there are five ‘!“"3“‘3‘“3

station A and station B starting from each to be aIIcmpu.:d and answer to cach question

end at 6 AM and the journey is to be has two choices - True (T) or False (F).

completed in 42 hours. What is the number It is given that no two candidates have

of trains needed in order to maintain the given the answers to the five questions in

shuttle service ? : an identical sequence. For this to happen

@ 2 the maximum number of candidates is :

(b) 3 (a) 10

() 4 - (b) 18

@r a%. . an. VO

that follows each passage. Your answers to

Directions for the following 8 (eight) items :

Read the following eight passages and answer }‘&{\lﬂ

these items should be based on the passag€s only. .

A @}\\‘J | Passage-1

By killing t:ansp!f:ff'"e._r\rgy\\.a‘ifct’ co#npclition, crony capitalism is harmful to free enterprise,

opportunity” aﬁ%g{g&o\ﬁiii growth. Crony capitalism, where rich and the influential are alleged

to have rc};civ::"d land and natural resources and various licences in return for payoffs to venal

politicians, is now a major issue to be tackled. One of the greatest dangers to growth of developing

economies like India is the middle-income trap where crony capitalism creates oligarchies that
slow down the growth.

41. Which among the following is the mest logical corollary to the above passage ?

. (a) Launching more welfare schemes and allocating more finances for the current schemes
are urgently needed

(b) Efforts should be made to push up economic growth by other means and provide
licences to the poor

(¢) Greater transparency in the functioning of the government and promoting the financial
inclusion are needed at present

(d) "We should concentrate more on developing manufacturing sector than service scctor

18 | (Contd.)
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Passage-2
Climate adaptation may be rendered ineffective if policies are not designed in the context
of other development concerns. For instance, a comprehensive strategy that seeks 1o improve
food security in the context of climate change may include a set of coordinated measures related
to agricultural extension, crop diversification, integrated water and pest management and agricultural
information services. Some of these measures may have to do with climate changes and others
with economic development.

42. What is the most logical and rational inference that can be made from the above

passage ?

(a) It is difficult to pursue climate adaptation in the developing countries

(b) Improving food security is a far more complex issue than climate adaptation

(c) Every developmental activity is directly or indirectly linked to climate adaptation

(d) Climate adaptation should be examined in tandem with other economic development

options
Passage-3

Understanding of the role of biodiversity in the ﬁydmlogical cycle enables better policy-
making. The term biodiversity refers to the variety of plants, animals, microorganisms, and the
ecosystems in which they occur. Water and biodiversity are interdependent. In reality, the hydrologlca!
cycle decides how biodiversity functions. In tumn, vegetation and soil drivé the movemcnt of
water. Every glass of water we drink has, at least in pan, passed%rough(gsh, Jreesobactcna, soil
and other organisms. Passing through these ecosystems, i(’is clcansed and made fit for consumption.
The supply of water is a critical service that lhc en'?lro\}lmmp prowdt:s.

43. Which among the followmg th'c mosr qrmcaf inference that can be made from the above
passage ? .\ nf
(a) Blodwcnny sustams the a :hly of nature to recycle water
(b) ;Wc. fgnnotﬁget potabic water without the existence of living organlsrm
(c) Plams, animals and microorganisms continuously interact among themselves
(d) Living organisms could not have come into existence without hydrological cycle
Passage-4

In the last decade, the banking sector has been restructured with a high degree of automation
and products that mainly serve middle-class and upper middle-class society. Today there is a

need for a new agenda for the banking and non-banking financial services that does not exclude
the common man.

44. Which one of the following is the message that is essentially implied in the above
passage 7
(a) Need for more automation and more products of banks
(b) Need for a radical restructuring of our entire public finance system
(c) Need to integrate banking and non-banking institutions
(d) Need to promote financial inclusion .
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Passage-5

Safe and sustainable sanitation in slums has immeasurable benefits to women and girls in
terms of their health, safety, privacy and dignity. However, women do not featurc in most of the
schemes and policies on urban sanitation. The fact that even now the manual scavenging exists,
only goes to show that not enough has been done to promote pour-flush toilets and discontinue
the use of dry latrines. A morc sustained and rigorous campaign needs to be launched towards
the right to sanitation on a very large scale. This should primarily focus on the abolition of
manual scavenging.

45, With reference to the above passage, consider the following statements :

1. Urban sanitation problems can be fully solved by the abolition of manual scavenging
only

2. There is a need to promote greater awareness on safe sanitation practices in urban areas
Which of the statcments given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both | and 2

(d) .Neither 1 nor 2

e— | o\ @

To understand the nature and quantity of Government proper for@anf\\ issnecessary 10
attend to his character. As nature created him for social Ill;c. shie ﬁl\cd him 'for the station she
intended. In all cases she made his natural wants grcalcrftha(n his individual powers. No one man
is capable, without the aid of society, of § [ Su plymg hls own Wants; and those wants, acting upon
every individual, impel the whole of‘thcm mlo soclcly

SO\l LY°

46. Which among lhc\.\followmg is thc most logical and rational inference that can be made
from thcuabove pa3§agc3?

(a) Nature; has crcatcd a great diversity in human society

(b) Any given human society is always short of its wants

(¢) Social life is a specific characteristic of man

(d) Diverse natural wants forced man towards social system |

~ Passage-7

The nature of the legal imperatives in any given state corresponds to the effective demands
that state encounters, and that these, in their turn, depend, in a general way, upon the manner in
which ¢conomic power is distributed in the society which the state controls.
47. The statement refers-to :

(a) the antithesis of Politics and Economics -

(b) the interrelationship of Politics and Economics

(¢) the predominance of Economics over Politics

(d) the predominance of Politics over Economics
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Passage-8

" About 15 per cent of global greenhouse gas emissions come from agricultural practices.
This includes nitrous oxide from fertilizers; methane from livestock, rice production, and manure
storage; and carbon dioxide (CO,) from burning biomass, but this excludes CO, ¢missions from
soil management practices, savannah burning and deforestation. Forestry, land use, and land-use
change account for another 17 per cent of greenhouse gas emissions cach year, three quarters of
which come from tropical deforestation. The remainder is largely from draining and burning

tropical peatland. About the same amount of carbon is stored in the world's peatlands as is stored
in the Amazon rainforest.

48. Which among the following is the meost logical and rational inference that can be made

49.

50.

from the abovc passage ?

(a) Organic farming should immediately replace mechanised and chemical dependant

agricultural practices all over the world

(b) It is imperative for us to modify our land use practices in order to mitigate climate

change

(c) There are no technolog:cal solutions to the problcm of greenhouse gas emissions
(d) Tropical arcas are the chief sites of carbon sequestration

A person climbs a hill in a straight path from
point ‘O’ on the ground in the direction of
north-cast and reaches a point ‘A’ after
travelling a distance of 5 km. Then, from
the point ‘A’ he moves to point ‘B’ in the
direction of north-west. Let the dlstanceAB
be 12 km. Now, how far is the perpon a

from the starting point 'O’@
(@) 7 km @(\
RN

(c) 17 km

(@ 11 km

An agricultural field is in the form of a
rectangle having length X, meters and
breadth X, meters (X, and X, are variable).
If X, + X, = 40 meters, then the area of
the agricultural field will not exceed which
one of the following values ? -
(a) 400 sqm

(b) 300 sq'm

{c) 200 sq m

(d) 80 sqm

@\i\

. The total emoluments of two persons are

The sum of the ages of 5 mcmbcrs
comprising a family, 3 ycars ago was 30
years. The average age of the farmly

is the same as it was 3\)’3&:5 ago. becausc
of an addltxon of ) aubaby during the
fntem.nmé pcnod \How old is the baby ?
(a) 6 months

(b) 1 year

(¢) 2 years

(d) 2 years and 6 months

the same, but one gets allowances to the
extent of 65% of his basic pay and the other
gets allowances to the extent of 80% of his
basic pay. The ratio of the basic pay of the
former to the basic pay of the latter is :
(a) 16:13

(b) 5:4

{¢) 7:8

(@ 12:11

- A person is standing on the first step from

the bottom of a ladder. If he has to climb
4 more steps to reach exactly the middle
step, how many steps does the ladder have ?
(@ 8

(b) 9

(c) 10

(d) 11
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Direction for the following 3 (three) items :
three items that follow.

Consider the gwcn information and answer the

When three friends A, B and C met, it was found that each of them wore an outer garment
ui‘ a different colour. In random order, the garments are: Jacket, sweater and tie; and the colours
: blue, white and black. Their surnames in random order are: Ribeiro, Kumar and Singh.

Furthcr, we know that :

C wore a tie
Singh's garment was not white
Kumar does not wear a jacket

v oW~

neither B nor Ribeiro wore a wime SWcatcr

Ribeiro does not like to wear the black colour
Each of the friends wore only one outer garment of only one colour

54. What is C's surname ? 36. Who wore the sweater 7
(a) . Ribeiro
(b) Kumar @ A
(c) Singh (®) B
(d) Cannot be determined
; (¢) C e,
55. What is the colour of the tie ? \ \W
: d) C t be det d
(@) Biack (d) Canno bc ¢ crmme _
(b) Blue \ ©
() White % \
(d) Cannot be determined, @\“ \
57, AB is a vertical lmr\ik\of a, huge g‘ec\mg 58. A person walks 12 km due north, then
A being the pmnt whEre\[bL basc of the 15 km duc east, after that 19 km due west
touches the\groun ) e — and then 15 km due §outh. How far is he
\ | from the starting point ?
the trunk has been broken at C which is (@ 5 km !
at a height of 12 meters, broken part is (b) 9 km
partially attached to the vertical portion (c) 37 km
of the trunk at C. If the end of the broken (d) 61 km ;
part B touches the ground at D which is 59, A cube has all its faces painted with
BE a dlsmce ofs me[crs from A th_en the B di Hé_ﬁfnt_c—()iours. .lt 18 Cut lnto Sl'l'laﬂcr )
& | height of cubes of equal sizes such that the side of
riginal height of the trunk is : the small cube is one-fourth the big cube.
(@ 20 m The number of small cubes with only one
b) 25 m ?f) lh;zsulcs painted is :
a
(¢) 30 m : (b) 24
(d 35m (c) 16
(d) 8
'2:’5 . (Contd.)
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60. Ram and Shyam work on a job together 62. If R and S arc different integers both
for four days and complete 60% of it. divisible by 5, then which of the following
Ram takes leave then and Shyam works is not necessarily true ?
for eight more days to complete the job. () R — 8 s divisible by S
How long would Ram take 10 complete o
the entire job alone ? (b) R+ S is divisible by 10

(@) 6days (c) R x S is divisible by 25

(b) 8 days : (d) R?+ 82 is divisible by 5

() 10 days 63. How many numbers arc there between

(d) 11 days ‘ 100 and 300 which either begin with or
61. A military code writes SYSTEM as end with 2 7 .

SYSMET and NEARER as AENRER. (@ 110

Using the same code, FRACTION can be ®) 111

written as : © 112

(a) CARFTION

(b) FRACNOIT

(c) NOITCARF ‘ 3 m

d) CARFNOIT . \

- .+ Of\ -
Directions for the following 8 (cight) items : Read thedollowing five  passages and answer the
items that follow each passage. Your answers 1o these ﬁcms should be based on the passages
only. 3 \\ D\ *

A assage-1
As we Jook szSO (;}}cmwc will need to feed two billion more people, the qucstnon of

which diet is bcst has cn on new urgency. The foods we choose to cat in the coming decades
will have dramatlc ramifications for the planet. Simply put, a diet that revolves around meat and

dairy, a way of eating that is on the rise throughout the developing world, will take a greater toll
on the world's resources than one that revolves around unrefined grains, nuts, fruits and vegetables.

(d) None of the above

64. What is the critical message conveyed by the above passage ?

(@) Our increasing demand for foods sourced from ammals puls a grcatcr burden on our
—"natural resources i T -

(b) Diets based on grains, nuts, fruits and vegetables are best suited for health in developing
countries

(¢) Human beings change their food habits from time to time irrespective of the health
concerns

(d) From a global perspective, we still do not know which type of diet is best for us
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Passage-2
All humans digest mother’s milk as infants, but until cattle began being domesticated
10,000 years ago, children once weaned no longer needed to digest milk. As a result, they
stopped making the enzyme lactase, which breaks down the sugar lactose into simple sugars.
After humans began herding cattle, it became tremendously ad'vamagcous to digest milk, and
lactose tolerance evolved independently among cattle herders in Europe, the middle East and

Africa. Groups not dependant on cattle, such as the Chinese and Thai, remain lactose intolerant.

65. Which among the following is the mest logical assumption that can be made from the

above passage ?

(a) About 10,000 years ago, the domestication of animals took place in some parts of the

world

(b). A permanent change in the food habits of a community can bring about a genetic

change in its members o \(X
(c) Lactose tolerant people only are capable of getting simple sugars {p«theif b‘g\giu
| W\ XK

(d) People who are not Jactose tolerant cannot digest any Odairy"‘%)r@/ucl\

Passage-3 {l \

. o\ O\ . -

The conceptual difficulties in Naﬁ\cna\!ﬁ h\‘,"‘@“ comparisons between underdeveloped and
industrialised countxics(ia\f'\e{pc\&ﬂ@lar&y séfious because a part of the national output in various

AN\ J

underdevelopqd;c\:o@?g_}.\u; phroduccd without passing through the commercial channels.”
66. In ths:\jhabo‘\.-és statement, the author implies that :

(a) the entire national output produced and consumed in industrialized countries passes

through commercial channels

(b) the existence of a non-commercialized sector in different underdeveloped countries

renders the national income comparisons over countries difficult™— = =~ T

(c) 'no part of national output should be produced and consumed without passing through
commercial channels

: .(d) a part of the national output being produced and consumed without passing through

commercial channels is a sign of underdevelopment
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Passage-4

An increase in human-made carbon dioxide in the atmosphere could initiate a chain reaction
between plants and microorganisms that would unsettle one of the largest carbon reservoirs on
the planct - soil. In a study, it was found that the soil, which contains twice the amount of carbon
present in all plants and Earth’s atmosphere combined. could become increasingly volatile as
people add more carbon dioxide to the atmosphere. This is largely because of increased plant
growth. Although a greenhouse gas and a pollutant, carbon dioxide also supports plant growth.
As trees and other vegetation flourish in a carbon dioxide-rich future, their roots could stimulate
microbial activity in soil that may in turn accelerate the decomposition of soil carbon and its
release into the atmosphere as carbon dioxide.

67. Which among the following is the most logical corollary 1o the above passage ?
(a) Carbon dioxide is essential for the survival of microorganisms and plants

(b) Humans are solely responsible for the release of carbon dioxide into the atmosphere
(c) Microorganisms and soil carbon are mainly responsible for the increased plant growth
(d) Increasing green cover could trigger the release of carbon trapped in soil

Passage-5

Historically, the biggest challenge to world agriculture has been to achieve a balance between
demand for and supply of food. At the level of individual countrics, the demand-supply balance
can be a critical policy issue for a closed economy, especially if it is a populous ecdhomy and
its domestic agriculture is not growing sufficiently enough to ensure food supplies, on an enduring
basis; it is not so much and not always, of a constraint for an open, and g[O\Kih%"?CDQOHiS’, which
has adequate exchange surpluses to buy food abroad. For the world ds a\whole, ‘supply-demand
balance is always an inescapable prerequisite for wardifg of? hunger ‘and Starvation. However,
global availability of adequate supply does not necessarily mean that food would automatically
move from countries of surplus to countrics,ef deficit if the latter lack in purchasing power. The
uneven distribution of hunger, star}'atjoti;‘hﬁglc’i'\{‘brama!nourishmcnt, etc., at the world-level, thus
owes itself to the presente ofrempty-pocket hungry mouths, overwhelmingly confined to the
underdeveloped economies. Inasmuch as ‘a two-square meal® is of elemental significance to
basic human existence, the'issue of worldwide supply of food has been gaining significance, in
recent limfg, bP'}‘ because the quantum and the composition of demand has been undergoing big
changes, and because, in recent years, the capabilities of individual countries to generate uninterrupted

chain of food supplies have come under strain. Food production, marketing and prices, especially

price-affordability by the poor in the developing world, have become global issues that need
global thinking and global solutions.

68. According to the above passage, which of the following are the fundamental solutions for
the world food security problem ?

1. Setting up more agro-based industries

2. Improving the price affordability by the poor

3. Regulating the conditions of marketing

4. Providing food subsidy to one and all

Select the correct answer using the code given below:
(@) 1 and 2 only

(b) 2 and 3 only

(¢) 1, 3 and 4 only

(d) 1,2,3 and 4
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69. According to the above passage, the biggest
challenge to world agriculture is :

(a) to find sufficient land for agriculture
and to expand food processing
industries
to cradicate hunger in underdeveloped
countries
to achieve a balance between the
production of food and non-food items
to achieve a balance between demand
for and supply of food

)
()
@
-70. According to the above passage, which
of the following helps/help in reducing
hunger and starvation in the developing
cconomies 7
1. Balancing demand and supply of food
2. Increasing imports of food
3. Increasing purchasing power of the
poor

4. Changing the food consumption
patterns and practices

Select the correct answer using the code
given below :

(a) 1 only

() 2,3 and 4 orily) @\B
(¢) 1 and 3‘onif\@

(@)
The issue of worldwide supply of food
has gained importance mainly because of :

l. overgrowth of the population
worldwide

2. sharp decline in the area of food

- -.@and 4
71.

production -

3. limitation in the capabilities for
sustained supply of food

Select the correct answer using the code

given below :
(@ 1 and 2 only _
(b) 3 only

" (¢) 2 and 3 only
(d) 1I,2and3

aa\

72. Four-digit numbers are to be formed using
the digits 1, 2, 3 and 4; and none of these
four digits are repeated in any manner.

Further, .
1. 2and 3 are not to 1mmed1ately follow
cach olhcr

2. 1 is not to be immediately followed
by 3 '

3. 4.s not to appear at the last place

4. 1 is not 1o appear at the first place

’ How many different numbers can be
formed ?

(@). 6
(b) 8
(c) 9
(d) None of the above

73. A cylindrjcal ’i{\ve rfﬁl\nk of radius 2 m
and hc;ghl 7 m 15.10 ‘be filled from an
undcrgmundlankofs:zcs Smx4mx6m,

@w How much portion of the underground tank
is still filled with water after filling the
overhead tank completely ?

(@ 1713
(b) 122
(c) 174
(d) 1/6

74. In a class of 60 students, where the number
of girls is twice that of boys, Kamal, a__
boy, ranked seventeenth from the top. If
there are 9 girls ahead of. Kamal, the
number of boys in rank after him is :

| @ 13
(b) 12
() 7
@ 3
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75.

76.

A and B walk around a circular park. They

start at 8 a.m. from the same point in the,

opposite directions. A and B walk at a speed
of 2 rounds per hour and 3 rounds per hour
respectively. How many times shall they
cross each other after 8.00 a.m. and before
9.30.a.m. ?

(@ 7
(b) 6
(c) §
(d) 8
W can do 25% of a work in 30 days, X
can do 1/4 of the work in 10 days, Y can

do 40% of the work in 40 days and Z can

7.

do 1/3 of the work in 13 days. Who will

‘complete the work first ?

(a) W
(b) X
) Y
@ Z
The aw:@ monlhly income of a person in
a cu'\:un family of 5 is Rs. 10,000. What
will be the average monthly income of a

. person in the same family if the income of

one person increased by Rs. 1,20,000 per
year? .
(a) Rs. 12,000
(b) Rs. 16,000
(c) Rs. 20,000
(d) Rs. 34,000

- . p— - —— -

78.

79.

80.

36

In a race, a competitor has to collect 6
apples which are kept in a straight line
on a track and a bucket is placed at the -
beginning of the track which is a starting
point. The condition is that the competitor

can pick only onc apple at a time, run

back with it and drop it in the bucket. If
he has to drop all the apples in the bucket,
how much total distance he has to run if
the bucket is 5 meters from the first apple
and all other apples are placed 3 meters
apart ?7

(@) 40 m

(b) SO0 m

(c) 75 m

(d) 150 m

A round archery target of dmnleler 1 mis
marked with four scoring rcglonsﬁfrom
the centre oulv-ards as’ rcd blt\l}:. yeﬂ
and white. The ms Dfs thé red band is
0. 20\1_11 The vadth of all the remaining
ba\nds 15 equal If archers throw arrows
totvards the target, what is the probability
that the arrows fall in the red region of
the archery target ?

(a) 040

(b) 0.20

(c) 0.16

(d) 0.04

A person allows a 10% discount for cash
payment from the marked price of a toy
and still he makes a 10% gain. What is
the cost price of the toy which is marked™
Rs. 770 ?

(a) Rs. 610

(b) Rs. 620

(c) Rs. 630

(d) Rs. 640
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AW wam 9 W A B e @
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(a) 040

(b) 0.20

(c) 0.16

(d) 0.04
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W ane g T 2, R st Hmg
% 7708 ?

(@ % 610
(b) & 620
(c) & 630
(d) = 640
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Note : English version of the instructions is printed on the front cover of this Booklet.
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